Calculate Linux - Bug # 423: knotify D¢D¥%DID,NeD°PUN, DD DY4NeN,NE

Status: Closed Priority: Urgent

Author: D3p¥:DYaNN,D°DY:N,D DY: D'NfN DY.DtDehry: Calculate Linux Desktop KDE

Created: 04/04/2012 Assignee:

Updated: 04/05/2012 Due date:

Subject: knotify D¢ D¥%:DTD, NEDPUN, D¢ D°DYaNN,NE

Description: DebuUD D°DDY:D¥ D-D°NeN,D°D» B¢ NEDYNTPUNeNs knotify D-D° D¢ D¥%DID NEDDYD BubYs 2
3D, D3D¥D2 DD ¢ PUNED°N,D D2DY:D¥D! D¢ D°PYNeN.D, (D+D¥%D»NENDu D¢, NEPYN+N,DY: NfDTDU
pYbu DxNd»D¥s). D—D°DYDUNIDUDY:DY: DY:DUP¥D DY:D¥:DoNED°N DYDY DzDxN«(NtDY%DY,
N.D°PD¥:bu D+ND2D°PuN, D NED, P¥D+DYDYD2D»Dub¥:D. b, D .D»D, D¢ DUNEDUND+D¥NEDDY
pv.D NEDP°.

History

04/05/2012 09:47 am - Alexander Tratsevskiy

- Status changed from New to Closed

DibuD3p¥%D DY%:Ne  D¥D+D%D¥%D2D DYy KDE, D' NfDYDNZ D¢ NEDY:D+D»DupYsD° NEDUN'D NNeNe Nep°DYiD° NeD¥%D+D¥%D: B’
D»NZD+D¥:DYs NeD»N fN1D°Du D¢ NED°D2D B»NEDY:DUD! NeN,D¥%N, B+D°D? D2DUND°N,NE D2 D+D°DD-D D»D»Nf KDE.
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